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General Instructions

(a)Question paper is divided into 4 sections A,B,C and D.

(b)Section A comprises 5 questions of 1 mark each.

(c)Section B comprises 5 questions of 2 marks each.

(d)Section C comprises 6 questions of 3 marks each. Attempt any 5.

(e)Section D comprises 6 questions of 4 marks each. Attempt any 5.

SECTION — A
1. Which is the greatest 4 digit number formed by using digits 3,8,7,4 ?
(a) 8743 (b) 8347 (c) 3478
2. When 1 is subtracted from smallest 5 digit number, what is the result?
(a) 99999 (b) 9999 (c) 1000
3. How many centimeters make a meter?
(@) 10 (b) 100 (c) 1000
4. The largest whole number is
(@) 99 (b) 999 (c) not defined
5. Odivided by 5is
(@) 5 (b) 0 (c)1
SECTION - B

6. Find the sum by suitable rearrangement.
1962+ 453 + 1538 + 647
7. Estimate 730 + 998 + 475 by rounding off to the nearest hundreds.
8. Find the product using the distributive property
5437 x 1001
9. Find the value of the following.
54279 x 92 + 8 x 54279
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Fill in the blanks.
(@) 1 million = hundred thousand
(b) 1 crore = million

SECTION = C (ATTEMPT ANY FIVE)
Insert commas suitably, and write the name according to the International system
of numeration : 87645296.
Population of Sundarnagar was 2,35,471 in the year 1991. In the year 2001, it was

found to be increased by 72,958. What was the population of the city in 2001?
Find the product using the suitable arrangement : 20x 386x 5.
How many whole numbers are there between 32 and 537
Which of the following statements are true and which are false?
(i) All whole numbers are natural numbers.
(i) 1 is the smallest whole number.
(iif) 600 is the successor of 599.
Estimate 1291 x 2592 by rounding off to the nearest thousands.
SECTION = D (ATTEMPT ANY FIVE)

In an election, the successful candidate registered 5,77,500 votes and his nearest

rival secured 3,48,700 votes. By what margin did the successful candidate win the
election?

Write the following in roman numerals.

(a)125 (b) 361 (c) 1000 (d) 426

The school canteen charges Rs 20 for lunch and Rs 4 for milk for each day. How

much money do you spend in 5 days on these things?

Which of the following will not represent zero?

(a) 1+0 (b) 0x 0 (©)3 (d) ==
Write the successor of — (a) 2440701 (b) 2345670
Write the predecessor of — (a) 1000 (b) 7654321

A vessel has 4 litres 500 ml of curd. In how many glasses, each of 25 ml capacity,

can it be filled?



